et e TRy oA AT B T e e - 0 n ©
. . IIPREN Ve Nt

S5 o 0 O
__________________________________________________________________|] v e - o= *_~.'\v ‘.i,\‘ﬁ
| . B 8
B Approvals/ | LT
28l £ g2 & 2.FM° Co
g S8 S = g 3.UL C
S el2le s = 5|2 . €|z |4acoa :
cle 88| |«|3 2 8| £ g4 4| S 3| 8|5 Mami- ety
£ 58 8% 8 E 2l S |2|5|8|g|@| Dade 5 |
2lg OEI=| 8|8 =|=|3 23|38 8 8|8 /8|5 | N 8|6 NSF/W0A A
el 2lz1Zlz|2|2E 8 8|5 S| 2| 5 (BB |a|5|2|7LEED ~Similar ¢ o0
2 £ 23 2228 & s 8 Anchor S5 x| x| 8|8 5|2|=|5|8 Cored Anchoring « * - et
ADHESIVE ANCHORING SYSTEMS S|2|2|8|2|8|2|5|8|2|2|  oiameter E|&|E|E|5|8|8|& |8 & holes Products i o
"Pure220+" TG " v
; DUST X+ Q) 3/8" - 1-1/4" Hilti RE 500 V3 |
xglcr:]lg:ﬁ]gtéiz?etwpoxy VST h %?51844 UL o U #3 - #11 Rebar u mEEEm 167 Simpson SET 3G Ry
Pure110+°® : e W4 Hilti RE 500 V3
High Strength Epoxy DUST X+ @ ] EEm OO #%/z_s#ﬁ%éar ] E mEmm m|14678" Simpson SET-XP -
Anchoring System ESR-3298 Simpson SET 3G
IcC 0,00
Pure50+™ DUST X+ <) 3/8" - 1-1/4" Hilti RE 100 57= 0%
Epoxy Anchoring System (22772771 %76 - L — #3 - #10 Rebar L " e EE 1467 Simpson SET S,
AC200+™ : Icc " " » et
b . DUST X+ 3/8"-1-1/4 Hilti HY 200 v
Rh%mg:iﬁg%tysﬁgr;y“c (77777771 ESKRFg? . ] O #3 - #10 Rebar ] H mmmmE| 1467 Simpson AT-3G :
AC100+ Gold® , & 1 Hilti HY 100
Vinylester Adhesive DUST X+ ESR%BZ‘E%—BZOO mm0nnnnn B I m(mim|ninn| 1467 Hiti HY 270 i
Anchoring System - 280 g oe: Simpson AT-XP |
: HIilti Kk BOlt 3 (KB3)
Power-Stud®+ SD1 DUST X+ C; . . k'
Carbon Steel Wedge-Anchor Pz A ES) (b -——) W 174" -1-1/4 u CE R R 1,2,3,4 _ HitiKB1
9 ESR-2818, ESR-2966 A i) Simpson Strong Bolt 2
Power-Stud®+ SD2 , e L
. DUST X+ Q) ‘. ‘. Hilti Kwik Bolt TZ/TZ2
High Performance 'ANCHOR INSTALLATION SYSTEM ]:—S H N [ | 3/8" - 3/4 [ | H H B B 1,2, 3,4 .
Ca?rbon Steel Wedge-Anchor — §2502 ST S B
Power-Stud®+ SD4 = ey Hilti Kwik Bolt 3 (KB3) /
b s S ot &ES) CIL IR 4"-34" |m " nn | 14 KBTZ/TZ2 S
Wedge-Anchor ESR-2502 Simpson Strong Bolt 2
I T e S0 e B &E@ mEm = 14" - 3/4" ] = nn m| 14 T2z é@BS)/
316 Stainless Steel Wedge-Anchor |resssssa ESRT2502 Simpson Strong Bolt 2
Power-Stud® HD5 y s o
Hot-Dip Galvanized Wedge Expansion Anchor u lwmmmnm!\ = | | | | 3/8” - 3/4 n H EE ] Hilti Kwik Bolt 3 (KB3)
™ : 2 1/4" - 3/4" "
Screw-Bolt+ DUST X+ ES) - Hilti KH-EZ / KWIK
High Performance Screw Anchor | P2s2#%%% ESR@%Q’ Bray | eemmeenaas (W W . - (Z'\l/lnecch]’Igt;ls)f& . mEEEE 1.4 Simpson Titen HD
™ - Ic. TG —
Screw-Bolt+™ Flat Head [ DUST X+ ES) Pmpnmmennssss | § @] (@] | (Z%ﬁ Py & Emn |m 1,4 gms}ln%t/eﬁ%
High Performance Screw Anchor | P####& 4| | ESR-3880, ESR-4042 |  semememmmmmimaiomimins Mech Gal) Hilti KH-EZ SS316
316 Stainless Steel Wedge-Bolt™ D_<ypE Simpson Stainless Steel
Screw Anchor SRR .. /4" -172 UL = Titen HD
o €y
UltraCon®+ DUST X+ W o Simpson Titen Turbo
AT G St Al popsaasse | | ESR-3068, ESR-3196, Em mmm ] 3/16"-1/4 EE NN 1,4,5 TW Tapcon
ESR-3042, ESR-3213
™ = 1CC 3/8" - 3/4" anchor rod .
CCU+ DUST X+ <) - Hilti HDA Undercut
Heavy Duty Undercut Anchor e Eskffm . m . Carbon Steel & | m CHLIL I L Simpson TCA
. ICC
Power-Bolt®+ DUST X+ o -
Heavy Duty Sleeve Anchor (22022271 ﬁ — ) " " Carbon Steel - S HIH = 1.4 il 854
Snake+® = Q)
Rod Hanger / Screw Anchor %2%2 . 1/4"-1/2" | E [ 1,2,4 No Similar Product
Smart DI™ " 1on .
Internally Threaded Expansion Anchor [ - 145172 UL u 2,3 Hit HDI
1CC [TW Sammys
® {
Ll (B ) D) | u|m|o 174" 1/2" m . 1,24 | HitiKHEZ
ging ESR-3889 Simpson Titen Rod Hanger
®
!;'Oﬂgr%wﬂc‘fmr(ﬁeel’wm iy SETRUSSEES | e-3m - 2,3 TW Samimys .
el ™ ICC 5
Mini-Undercut+ ES) T EEn 3/8" n 1,4 Hilti HDI-TZ S
Rod Hanger for PT Slabs and Hollow Core Plank ESR-3912 8
ICC 2
Bang-It®+ ) hﬂb . Hilti KCM-MD g
Metal deck cast in place anchor (Fs) : - ASSEE: AL I L2 86 Hilti KCC-MD S
Wood-Knocker®ll+/Pan-Knocker™ll+ | CESY Hili KCV-WE g
in-Place Anchor for F (Es :—_gj . 1/4" - 314" mm |m 1,2,3,4 Hilti KCC-WF 5
Cast-in-Place Anchor for Forms ESRT3657 Hilti KCM-PD g
ICC > g
DDI+™ (Deck Insert) R —t — _ :
Metal Deck Cast In Place Anchor %%57 ] LR 3/8" - 7/8 [y | [ ] 1,2,3,4 No Similar Product g
MEDIUM / LIGHT DUTY ANCHORS §
[+=
™ i : Wall Thickness ITW Red Head =
Polly™ Hollow Wall Anchor e mEm 18" - 1-1/8" n ] Poly-Sef® Anchor E
Toggle Bolt Hollow Wall Anchor »—7‘;— = ] ] EmO 1/8" x 2" - 1/2" x 4" n = n §>
Sharkie™ wall Anchor » ) e wm e | P02 " 8
2
Strap-Toggle™ Hollow Wall Anchor ¥ [ | n | n 3/16"-1/2" u ] n Hilti HTB Toggle Bolt g
J 7}
Zip-Toggle® Hollow Wall Anchor =5 —J n #6x 2 n g
Wall-Dog™ universal Light Duty Anchor 1w EE E EEEEE®E L ngg;%rwnh . [ ] £
Bantam Plug Piastic Wall Anchor — aln |(mmmmm SR - Hit HUD-1 Wall Plug. |
. . ITW Red Head EZ £
Zip-It® Zinc or Nylon wallboard Anchor o |- 1 (S [ #6 10 #8 Screws n Simpson Sure Wal g
Lok-Bolt AS® sieeve Anchor m OO0 . mmO 1/4" - 3/4" 3 ] Em Hilti HLC Sleeve é
Hollow-Set Dropin™ — w_ g ; £
Internally Threaded Expansion Anchor RN EDOEEEED 1/4"-5/8 u 3 Simpson HDIA
Zamac Hammer-Screw® nail Anchor === |(mjD| |= Ve m . Hilti HPS-1 g
Zamac Nailin® nail Anchor leaame (MO | |m IO . Hilti HMH Nail In S
Spike® pin Anchor | ] EE |m 3/16" - 1/2" [ ] mm n = Simpson Crimp Drive® | £
=
Calk-In™ mechanical Bolt Anchor ! [ n #8 Screw to 1/2" n g
Double™shield Expansion Anchor ﬁ@ m O H EE 1/4" - 3/4" [ ] %
WSuitable O May Be Suitable  *DEWALT Tech Bulletin %

For technical support please contact a DEWALT Product & Code Expert at 800-524-3244 or visit our website at www.DeEWALT.com
Verify scope of approval relative to intended application. The information and data contained within this document is current as of July 1, 2021 and is subject to change after such date. DEWALT reserves the right to change the designs, materials and specifications of the products in this
document without notice and shall have no liability with respect to such changes. Please contact DEWALT for the most current and up to date information and data or refer to our website at www.DEWALT.com

DeWALT USA: (800) 524-3244 Canada: (905) 673-7295 www.DeWALT.com

ICDWANCHSG21  Copyright © 2021 DEWALT



